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v financial statements. Below are listed some sg .
Al

Q5: Scotsman Company prepares month er 30 trial balance before any adjustment h;

: . aptemb
accounts and their balances in the Sept
been made for the month of September.

Trial Bélance (Selected Accounts)
September 30, 2017

Debit Credit
~ S R : $2,700
SUPBIEeSRRR R L . om0 T i
Prepaid Insurance.............. e - | I
P::.paig U’c'ilities..t...t;..z., ............. == e e
GHeclquipment L s 0 Ll
Accumulated Depreciation—EQUIPMENT ... Siggg
LhcsiedlientiRevenye. o 0 T .

(Note: Debit column does not equal credit column because this is a partial listing of selected -

account balances)

4. Office equipment depreciated

5. The amount of rent received in advance that remains unearne
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er agrees to retain m :
selling price, thi erchandise that is defective because the seller is willing £
price, this transaction is known as a sales

boooretumm.
B nt bals . contraasset. d. allowance.
) nces ¢
ol Lk IEf\evenue, Sales Returns and Allowances, and Sales

redit, credit, credi
b coac GRS b. debit, credit, debit.
d. credit, debit, credit.

d th‘;g;folhwingA.ihforma,tioh‘ in :re'c':ordinghité 1bankl.s'£a t’er'.ﬁen,t for the

ceper ¢ book February 28 $260, 5 506, ke
 per bank February 28 $300,000.

amount not. yet been cleared by the banlk.
ed and paid to a suppher but incorrectly record in cash

tion. (15 Marks)

mpany: Prepare the Income Statement with multiple

chases $1,400,000, Inventory at 31/12 $3,000,
500, Repairs Expense $2,000, Sundry Expenses
,000, Wages Expense $4,000, Insurance Expense
pense $4,000, Purchases Returns $3,000, Sales
0, Credit Rent $1,000, Tax 10% from income.
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finzl Exam e
2024-2025

ter

e . . _ Accounting Department
Subject: Intermediate Accounting T Se cond c!a'gg
Date: 33/12/2024 . | First Semes

Time: 2 hours

i ARV Sv.'r“lered.
e 0 L 1 anmed 02 must bﬂ/——’——J
| Note: Answer only four guestions, Ql & gt s oo

S e e g e s g BEING ) [RIGS
V3 AnSwer with irue OF raiss, (LU n/lcnl’.:)

<

transacticn.

- fove :
G et ”’\I ear“el P
1. The Adjusting Entry is used to correcterrorsin recording I
. : A ar. /
2. The Closing Entry is made at the beginning of the yea i i
. e b 5 S’]ee o
3. The main part of financial statements 1S only Balancé a0 i haie B
I SO L o »—'r:.-“ta:le OTlraGlng C‘ J\-DL’H;:S‘?SA_ b
«  ifacompany have Total Sales worth $6,500,and Ui S el
e r \ SE R 7 925 s . e
Therefore, the amount of discount would be $2, ; 5 |
- _H R : Se | fladzer account far Interest EXPENseds Bty
5. The type of entry that will increase balance O ledge e 000 SRa /
i 2 a (= 1 { P E e e
6. Neat income for the year is $9,000, retained earnings on 1/1are 57>, 4 o
A : : 00.
$15,000. Therefore, retained earnings on 12/31 would be $69,0
7. The liabilities are main element of the balance sheet.
8. Office supplies on hand will appear on income statement.
9. Adjusting entry is requirea to bank errors. Tug
i S . S R ted Depreciation a
10.The Adjusting entry for depreciation expense will be debit to Accumulat d De preciation and
credit to Depreciation Expense. i ‘ :
Q2: Chocse the Correct Answer. (10 Marks)

1. The trade discount and cash discount are the same?
2, e b. False c. None

2 Which of the following discounts does not record in the books of accounts?
a. Cash Discount b. Trade Discount c¢. Quantity Discount
3. X Company purchased goods at August 18 for $6,000 with terms of 3/10, 2/15, N/60. On
September X Company paid $4,500. The Actual amount that should be credited is
3l 56127 b. $54,991 @ SA 59 Yt dl 4,410
4 A credit sale of $4,000 is made on April 25, terms 2/10, n/30, on which a return of $250 is
granted on April 28. What amount is received as payment in full on May 4?
81153675 253 750 53,920 d. " S4680
5. The entry to record the receipt of payment within the discount period on a sale of $2,00C
with terms of 2/10, n/30 will include a credit to
a. Sales Discounts for $40. b. Cash for $1,960.
c. Accounts Receivable for $2,000. d. Sales Revenue for $2,000.
5. The coilection of a $6,000 account within the 2 percent discount period will resultin a
2. debit to Sales Discounts for $120. b. creditto A/R for $5.880. »#
c. creditto Cash for $5,880. d. creditto A/R for 5‘5'880. ?
S o e L g / :
7 ‘_gmml.y X seils $900 of merchandise on account to Company Y with credit ‘terms of 2/1

eanmcG - Vi N

S0 I @ampany Y renits ¢ taking adyant

\/ pany Y remits a check taking zdvantage of the discount offereq. what is tt
~ ] ok

3. $530 b <730 .
Y f 81 3 A
e d. $SB882

-
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Note: Answer all the Questions. /
. (choose 5 only) '
ihg the passive voice i’
Q1/ Re-write the sentences using the p e it
1. He works in the company every day. i ’
sent pe
2. My friend has been arrived to Baghdad. (pre p i
sent continuo
3. lam writing the homework now. (pre ;
t perfect
4. He had gone to school (past p
i inuous
5. Weare watching the movie now. (present contin )
6. she is catching her brother's hand . (past perfect) :
o
Q2/ Make passive sentences using the word parts and the given tense. (choose 5 only)

-
2-
3-
4-
5.
6

The cows — feed — every morning (present simple)

- Our new house — just — finish (present perfect)
The story —write — by grandmother (present simple)
The examination — had -finish - (past simple)

The food — must put — on the table (present simple)

The door - broken ~by him (present continuous)

Q3/ Complete the sentences with the suit

L

able Prepositions
We have coffee ,,.,,,,,. Night ,

2-The Final exam will be

3- I learned how
4-The boys are
5-We will meet

6- I am sitting

.................... 16-12-2024,

(choose 5 only)
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'y pondo cOrporatiOn's comparative balance sheets are presented below
Rondo Corporation
Balance Sheets as December 31,2022 and 2023 ki

| 2023
S : | 8,600
punts receivable - ] 36,000
entory l 12,000
o T l 36,000
dings | 95,000 B 95000
umulated depreciation-buildings \ (18,000) (12,000)
N{ial assets 169,600
ounts payable - 14,000 35,000 =
mon stock X 117,600 112,800
ained earnings 7 l 38,000
| 169,600 180,800

i abilities
4 fhdo's 2023 income statement included et saleE“o'FﬁSEOO(;Z;)het credit sales of 124,000 cost of goods).
17:000; Requirement :Compute the following

¥ of 75,000, credit pprchases of 98,000, and net income of 17,
< for 2023: 1. Quick ratio. 2. Inventory turnover ratio. 3. Accounts receivable turnove
.. lyerage Payment Period. 5. Working Capital turnover ratio.

r ratio.

The flowing are Profit & Loss and balance sheets of Al-Hadi company.
Profit & loss

57000 || By Sales 330000
165000 || By Closing Stock 86000
53000
anufacturing Expenses 37000
ross profit 104000
416000 416000
13000 By Gross Profit 104000
50600 By Profit on Sale of shares 20600
7400
6600
47000
124600 124600 |
Balance sheets
53000 Cash 65000 |
ther current Liabilities 42000 Receivable 32000 \
. flong term Liabilities 59000 Inventory 24000
> IRetained earnings 46000 Land and Building 175000
.iCommon stock 96000 \
296000 \ 296000 ‘\

e following ratios for: 1. Debt to Capital Employed ratio. 2. Proprietary ratio.

;Requirement :Compute th
fit ratio. 5. Net Profit ratio.

§- Gross Profit ratio. 4. Operating Pro

A TR el
N

“; e éﬂoo>dA Luck
Lecturers N
‘ g [t e —— o
- Suhail A-Nasser A.P.D-Mohaned H.Salih D- Bahauddin F. Madh

i
/

e
Vﬂéd/\ofp

AP.D- Muhaned M. Abdulmutalb




h
University of Basré

College of e ;
Dept of Accounting
Third Class i ‘ e
g c PRI 6 | i
S : rst of whi is given P W
Answer three guestions, the fi jance sheet of Ahmed Corporation isg below; ey
Note : Ans jve balan F y {
tatement and comparath:hmed Corporation e ¢o°
QI1: The income S Incoms statement 5043 4 y 1ad
For the Year Ended 3450 )/ W h
. : 2350 : Q o0
P i i e q
e e e e SEu8 s N s
Costofgoodssold 465 My jig!
e S T g \ /[
M 635 v
W 40 e e P
—/// 675 \
+ Gain on Sale of Investments 50 — 3 l' COUld you
[omebeforstax ) OE —3
| Inome WX P ——————— = e ——— oW eeret”
R v

i med Cor ion, |
ine the year 2023, a dividend of 130 was declared and paid by management ?f Ah ed Corporation, - T
sl,) urlr:‘;plantyassets we,ré purchased during 2023 and the payment was sett‘!ed by issuing common stock K
om

, Canlhave
amounting to 35. f
Ahmed Corporation : . Hehas .--
Comparative Balance Sheet o
For the Year Ended Dec 31,2023 o (. There are
Assets: 2023 2022 ]
Cash TR 900 _ , 575
Accounting Receivable . (- 97'< 87N 650 a1
Inventory T 800 950 ___HiChoose the
Plant assets iz 950 850 1| 3
Accumulated depreciation  © (600) (585) "NEY Gt enjoys
Long term investments . 650 710 ——— il
Total 3575 315 . not was
Liabilities and Equity : T e e . \Iy
= - “Uly cat ep3
T tingPaable 7 ] 600 RS0 ' enjoy:
Accrued Liabilities 100 125 asn .
T Sk = - =l ™ Studyi
S R o 4
T —— PO B
1225 950
Total -~
M
quired: Using the data given above —_ . S50 Hﬂ-iﬂ_,/ \

R _rt\Pns

— tfor Ali Co, as December 31, 2022 and 2023
articulars

e o — N\ oW e
M% 2023
W 6 ’ Percent

- Amount |
Net sales xz?\\’-z&,

0,
Wx* 162000 (e |
 Grods profit e ] ? Pt ] ? b
it incomg == "0 50




Choose the correct word for each sen t
ences

the story. (read- reads —read
Ing).

tO SChOOl on On-o v
t : v (gOGS— 00 o
o on )
o €).

 The door Was DElEREE. .. ....... ( ope
.. n__ Opel‘l
ed- o i
pening).

Coffee last night ( drink-drank
: =arank-
The p!zZa ... eaten ( been- beine-b )
5-0€).

’ .
My friends B was ........... ( stole- stolen —steal)

the blanks with the suitable prepositio
ns.

otild you buy me ......... apples please?

[Eniaves. ... ... dollars?
HERASE.. cats in the house.

- There i
A s o PO trees in the park.

<-drunk),

(choose 5 Only)'

(choose 5 only)

tenjoys bei
ei
ng bathed ... ...... hates getting his nails tr1

hates gett

---------------------

it is very expensive

ing his nails trimmed.

immed .

these days .

I still make mistake .




s Alaa .
220 sAlayal 2025/2024
” o /
2024 /A dJd ok s
s gl - o
SR aAs d o5

(ka8 12.5 Jigm 08) ¢

4 | A8y SJLw:lC'ﬂe/l'
: 12 2020 i 32 18 5
Ly 360000 &+ 0000 Gyl 032021 ot 4S04l g

AV Lale 5 )y sy A piall e ) ety )
0,20 Jal) Ay e s O

12 8 ) Aol jlaa 23202152020

9 (lad 45

alat g3 & Tataall Asllaall O sislhd

- g Wl 2 ;\S £y

2020/12/31 o (lall el Aail i Aaall @m\.juﬂu Jga¥) 5 pal) A Lsaif‘u,
Tl ke adusall) Ay sl A e

= ) 16 (al

12 alanall g <N

// 2 & .o

. 10 Alaly (e ydad

8 oalally daal) aall

18 FRER| ?.n.ﬂ\

6 281l

claall g Y 10 (Sl dasd b A pall al e
Al aall) Jiia hagid paada dae) o (Al ) AdLa) Ay puall uhiﬁﬂlqdjuﬁé.yJJ@.w}_Aa4m
0040 Ay & J3 sy Lyl il £ L iy 3 (Al JLia Gisila 2 Loy 4y a3

2020/12/31 b Ala al) Loy pal) cibal AN Guas) s gl

9 Al) ed\:ﬁlm;\ﬁ)ﬁd\ Cidda a8y lis Gela 8

‘ 1Al e el 30
Ayl Gy a5 a8 PR (e Ay il Gailad 7 54 -1
(Bdleal) b i) puall g B pdiloal) il yiall) Ay plal) JSaa ¢ 5 -2
IR o all 75 ) g Al 2 pal) Fl9aN o GAN s La -3
o e 1Ak Le ol /40
Boalall 5 Gl pdall 8 pdlal) Guil jdall Gy Gusadl) lma b L -1
J2sad) (mpall o) AN g S . ol
: PN dasall o pdal) Jea¥) Gy Sad CiiS -2

U8 ) Gubed 1o latial) G dpsnl) @l 25809 2018 ple Dty (A Abaanl Sllee iy 5 ead) A8,
Juaad 3 fnl) 03] Vb il oL (Bt 08 L draall e A5 e 80;)00 é_lw BN i J"':"/Sff
i i AS il (B el S 98 GAIEY A Ay 3 Sl i) Ga B 08 3 st ) .‘.*..a f ?’_, ,n,s
A 0505820 0 oy Ly (it i woe
2018 Al 8 bt RS Slitery il ot Lud (h:m ) ‘.J.L“.m_m o
Sy ) R 28 ey i iy gl Gl st Ty i 7 0 25, e
o Jass B i 112000 & Bl Ly 0 01 e g 2y L: 45 2018 A -1
dnmls s (N Gl O chants S50 G55 2018 du e o J\;:‘ 4 560000 4iad
A A 3l i) o B g Sl 11'2;::5::‘; o2



e < Aala ) 45_).».“ Jl|nis e
o AR il A Gl i .
A jlanl) A1) A il enn n ol il sl s ) 2 5
. T el A B A gul) agd Juad ] gl
; e g Al LSRR BRI 0 s ) et 4,

S A gal) 28 Jas /4
e L i 1o el 000 Rl L o 8 23 1/10 o 1
SRRt PR AR i ol bl e it o
R o e T s 770000 i L ot w27 5 2
v , : g s 500000 4tets Le <o jpa
,lo‘w‘_"uxj\ﬁ@u\aﬁe )L‘;’J'IOOOOOO@‘AA-}(:\.SJ\ Q@@\Q&OL1OOA;}ASLA;\)&€33/3QA o

1 I3 500000 Ly (1l 50 58 ¢ sall A 33
‘ el S 0= 3 Ao Jsa 5ol O (Ll sl A Ll ellial) e 1 15 Cipon 3 3 /17 5 4
R ) G0 - el ASleiaall WA GLS) e ity s 300000 4ies L 15 o5 4/27 3
' Ll
gl > 90000 AT ol el o e S IO SR PR
“ 0 o el i e
1 00000 e o) 530 ALLEY] 51 e 400000 4Gad e o om 23 817 3.7

970000 fls & i AANG L pettal AUCul) | gall (g 230 pLS) (31 gall Aalall AS 2l &) 2 50
DU s 2l s s 250000 @he Leishad o5 pail) 136 Al CISS 285 salall Lasl
(SIS GilS, Sle
JR R e 1 8 ¢ s 245000 dim &) G 531 e i 250000 o 531 A2 3
¢ s 245500 flie Axl ) & Al Sla ¢

) gald el A8y} e (b Sldanl da ) Lia gl 398 Jiaas ] sl

Pl o8 Uil ¢

Balal) (e 0 e

‘ ; el Juald call sl g 25 )

/

e
/VLJ“\_///—— %-—\\\

C‘—%ﬁ_;) pl)
~ +IS) Aiac

. ; ABall 2ans Mg s a |
Gl 58 5 o) A o)




AN s L] et RO
sl ) i s s W

by alua tdal ) /(/“; bk ?\_,.__u Ja = i
2025 | 2024 & 3 ksl

2024/ 12/ 24\
O L b )

Lol pLaill Lens) A et Vebeo
M A o) jsie Y Al 2

sl ciguaad Al Al 3983 2 o

oy a1 GRS adal b smgll ket (50 T
_:ngu“ Q\JP}A“

gal) AS pd Al

poal) S 53] & i) adl
L) Axid

C';je,o Ay 2\—35\')"“ ) el

< %40 EERWEPCRE'D.

Z_U\_'J A_Z—é it

R0 LS ilany AN o2a gl o 2 sl
am dnay oyl Aais€ siall Raf e % 30 Uiy i 270000
Ju\ajﬁijx)mw\y\amcw\agm JuaS) e

| Jan A x5 5 A8 A

2004 / 9/1 @J\SQAJ\J_:Q\@\P4L5;AG&; el
A8 ) jhall A8y o (B clglell da ) Asa sl 358 S sl

Laisl dalad) &Sl <l [2
_ -2y Lo

P - Lol 5 Ol s e Ao Anis i3 600000 e U] ) S, L2
ety alaall J ) il 285 M5 e ( %40 « %20 %40 )i

Al 5y olgl ey 3ladp 5 il e Al Aad O 910 assiy JEaN (o Bilpall CilalS o daiies

sl ae gall e Jeadl pidu (2 ali o gy S e ) 1000 e kil el 2 oSS
dad (0 (%30) Leiald 8ISy ) Ac 3 i 2400000 Fe =S SV e il Cass J Rl
gl (it a3 OIS Ao )3 S Ay Y de 3 5 aay Al

.2 6000000 dalsy ey glsall ikl A8 by (g glii) Al glaa o gl

Wlpall 5 58 elgil an Al ?\-’5:‘“’\ ERIEE 00 saal Jlsall e 3\_,‘)_,;\3 Clal e SR
’ . : ; clidn Lealinl g J
_Qﬁj@Jé@\Mﬂjq#\mhw\uﬂ\Q)L%.uujhjm\;hu&mJ\F.é :
=~ - - d-- - :%2
G g Al N sl Taladl A8l ciluad Ae) ) @lina 3l A il 481 ) dS A culd
- R - ol

gaioun e iy &) jad) A8 l) aald 24 100000 &bl slaie V1 Aad (e %25 3,08 e I
. A Gl B " - T 5 ‘ ‘,
u)@\uj}‘mcg)\y@@\}\é}\_}&j\;ﬂmé}q)

; By iy mar iy e
20 e e e D e
Y\ A:}AA:J d".‘w ;{L“J\-m Jm

) i i) ) iima Slatie ) B i £ end ) 2
e A N s S (000) SR s

‘Oym oy Juae




»Jﬂ)ugé\h‘;&qu\h.t%J\v_\ .
- g s i ¥ = 13 @‘su}uJ@\fﬁgfﬁwwkﬂm\m@mﬁ-iw
Tl V= Y Bl U ¥y B e, c:h.’J"'&wwuv_s:‘_,s‘s.qu..Gus;u
7 .JMV—VicS.\AJ\-. Go\Aal ) Balra Cfas g
s 2 gllaal)
/&97{ 209981 Jamal) A3y oy aua ) g 5 yalual) o) gall pamss - )
(Al Balaal) o) gall dsa gul) 08 Jagds — ¥

DI el S ) g saly Al Ay il o) cuadd —0

el UM Agag £ gy
Ju;\é 4. Sh‘,\'t JJY‘
i Bdag VA T
M 11 basy ¥Y VA
Qs VA baag Yo @‘JS’

L) 13 Al LRSS ¢ 5 S (B33 g Y Cluad i (0 JY) sl ) eS8 130 -

| b ddl) g gga bl Y Rl a3 B ladl A8 yd b o gl e d V) £ gauadll 5 piizal) 4 52Y) Y - T e
U-\AS.\AJH @A@Y\ﬁY\JMMd.\hgshﬂﬁ\uh&M\M&J@WA@JQ'M‘C&MJ&@

Py
Aaaial) adadll 33 Taks ¥ JSI o) Joa | Alalad)

el | gl N AN | o) Yl :
S Y. vV ' YA o VY al
T el

‘_Mndﬂgn,”u"ﬂﬁ‘ﬂglq%qﬁ-\
k) 552l lanl Jpanil Lpagll 28 s — 7
. galhpee

5' Balall (puaya : uqb?uu ‘
/ Al o) , : \ e p.d pd T
5 s".mm».e*ﬂ*ﬁﬂ*?

b

L) s sunn S 3.0 /%9




b yaasl) dauly

) S Aulaa <5 alall ou:w‘zt M:;l | LBy s 3)14‘:11 . /;ﬁ
AN Al yall u-“JJj ‘;:" sl ad ;;/'

ARV RFALRY Ig] 3 e /‘
e IR TV RRE: P
B i dwad 1o Llay) A
o o e gl b Uil At 0 j

:;,S,;LMM‘ 2“-\\1‘ Jald
'u"j" m‘:\aula.a Q\a\gﬁue&,ﬁ

Wl Wi & o al) Ma3) B |
) o 0 i ,.1 ne “ us _\ém_ - H‘J‘,}‘n Jb-‘ 7 G ;
by g -uﬂscmsnc.bdwww»m',.?‘w‘uﬁ“u‘c”““'

' i Actual cost - product cogf (-
Prime cost -« Conversion cost ¢ C ,
;yhﬁ@bﬁii}ﬁiqﬁ%quulc dy&ﬂ@umd\:\JJJ @
i g puaal) — 3 boudl) — 7 W) — o Adl g

13 psial) CilSa) () Apeadly 4953 5 _palsal) sty o 17T

e Glha — < Z-'J-u./g

rh g ) s 4y g paa (ALY Jaadl ‘:.u:u.d/

ielia y8 yal—s L) ppl-g by gl = Budla gl
:@ﬁ@ﬂiwﬁ#iﬂ\ﬁ\%jbc&iﬁbd&diJiﬂl&tﬁpﬁgﬂi&'ﬂ!.@‘ﬁ

Yol oda Vel il — 3 daddidumall— g Yol pda AT Al - Q958a0 Jral 4

ro Ameal) M) B i Sl ) Balaal) o gall AsaS Lguas gas Al AR Rl

YJ\J.\L@YJ\.UU&\—J cﬂﬁlﬂ\d.&d\—c YJ‘J-’L‘“J.-}&‘JJU“ s CL’J.J‘”M“-

2ot Aniiall faa gll 3 yadial) AAISH (B Bang Vo v e o Ul K5 IME Bang Ao e s ZUY JLa VYV .. B patall cadlsll i)

GO Ve, — g Jhave g S vy,o
b A3 RSl flaa) (8 Baag VO v+ L o5 I Baag VYO v gl OB A lls Youww s A3 il Ml -
B TR SR JL'A‘.;.H'N.‘.\._G JL'.:,.:Yo...._‘?, JUg.H'Wn-'-
481k (b 3l oladly LN alud) (B LELaY) duelinall AN (aads Jiigh o) = )
A — 3 il — el Jora — Sl

S

dnanl) g (puseddl g SUDIN g (a2 g Y1 g Cosead) 2LV DA Jandl S g dpana ) Jhally sl oy < (A Jana

. i o ’ g 3 ALaYY Jandl g %0 Yy,
) pod ) Sl g Aobn ¥ g Al g Aol ) agig MY Y0 g 1 d Aol o sl V) agy chagsdelul '

A3 EH A Gt 422 Chy o Jual il B3 £ il | gl g i =T,
B3kl J5aV) (Manly EUIN Juand 4 Jansi = |

-

AV S 8 jad) 25,8 db) i — T

-l

gah) pludl g Sk oL T : .
Xooas Y¥s0 Asv s R L e
Yoo Ta alf Yo r. : GJ@
o L sl
sila oo B

i 5 2 | e pamadl gLV Laud Ll :
el Uy cﬂW’M‘:‘b“‘U‘L‘ € wad GRS () g (gl A & i
(c) chashl) pd Ol sonlia dab Bl (3 € b o gt e “ﬁ:“_f-“ldm Sl plud gl e 5|
L) dyptiaall il ol L) plucdl ) 430k pdy (1) class oy (1) ceray Aoy L.g) EUN) s a2 (0:2 \
AdLay) deliall ChSil) anmadd S slaelyy ) Garaiy) ; Dl P a Adesdl
bl o) A o £ oy g 4 ) SR el i ot sl
EUY) e ) Uaay Ly L:LLL ‘ draatl) g Qaas — ¥

Al dadal) b o



] \ ; '_} 5400 , : }‘4&‘ |

Jaual) t\.s.a Jal 184
el 9 Jaal) ol S Y] Cdal b ayll A b (ALl el
“[ 2 1)

. L‘S . - .
T | Al g) Ay el 02l Y (e ML EAN) Jgan

w0 @l Al e £y ) Aad)
108000 ' 90000 7T
172800 90000 2019
103680 90000 2020
62208 90000 2021
62208 90000 2022
31104 90000 2023
ha 540000 540000 el

' u\.ml\ Sl ) S 2018 ke DA al) alal] ) (ga Cnfties Bkal gt o AS i) 685

L3 44000 &l Olasall ol BN o2 23] £ ghaal) dluall g L 200000 Sl A e ol £
0 52019 ple ;b L 56000 e G JVA (e b3 156000 59 sl #1851 bl A8 5
! 2020 (B

plinall) Ay pall Talal) e Auagtal) claiad) 152 312 2018 ols & -4
2018 ple S& -5

.y 28000 < (

Lgada o3 U3 26000 padll PAREIY LA AR el i) by

.43 412000 #2018 alad Ay pal) J&

AL (88 g Ay pal) S xa -7

| &) gl g 2019:\-34-‘-‘3"/040,92018‘\-3“(_930/050 (_uLSu.u‘yA-“uy 9 Jal <

,’ ; . Ve - . \ - .m‘ :‘T“,Su‘
L L3} el AN s pall Ayl JMV\JMH*J‘AI i &
&Aﬂ;}d\%}d\u K] > gall A (2B

Mo

S ol salal Qaa

e e

=
8l )

bl se tana tiga ded

819 b e 2l







s s 500 T o 4
18 )52 5,000,000 AUl sa i sl cudind 2020/6/3 G205 -8

Lo p b e g¥) (38l U e M
gy i e 88 ) G e Bl o 3| il Sl gl i (it

i 2 Al /0l L aal Apalindl) clabie V) A A A A puaal) ileall St /30
“ M e 4 who el o A " E
e J‘«“‘“‘L\\;"L‘“: el g pemal oy ol ) 8850l 1125 -]
1l il g el sl G A Aol el smy s e i poadl 15 55 524
e e (21 sal Ja 10000 d sa= 0005
3 4000 e daie V) dad (el (sl (e iy jladl] el 4S ORI o P )
sy i el i yeadl (4 el a8 ) huaal) haliagl gl il (i il sihuce Cus g 9 2/5 (B =3
gt L peadl s A Lyl
¢ Ol s gl oy i peaall 3 3 sl gl 5 2/10 o3 -4
) e i ol Al i pmnall (gl e Bisiall Aluin) iy i liine 2339 2/15 2 -3
/ : ) G peadll s e
, _('pﬂ' | Calatiue adas &y i padl .J).,M | é“-“) 2/20 ‘,_;-"-6
| gun ¢ ol 130 et N E RN /a8 Ui blas (B Aa ) Asianal) 2810 Jppeds /o sileall
._ (A2 15) S2a) gl Nl s 1320 ¢S

L

‘ s Claal) cldea dod b L=l g B /w8 N A pea L A cllel) Cu /40
el 2l 320,000,000 daiy JoY) Ash e opdba Caad) =l 3/3 < -1

B it s G sl ey el ad ol A<, s 80,000,000 Ay M L AN A e

L L Al & el laad O Al Al ol B 5 s

Al gl s p sy 5000, i e 125,000 . clinals 9525
e Aalal iy L=l

e 2l el s 3y Y

clldes elal) (oo byl e ihs 3/90 -2

gadl 285l i< yh ek 12/1 -3
AS LA e

gasll ;&uu__\ﬂaiia‘}.\\M\ e 1/6 4

3 _)‘.L‘.\

-

PR PR

D0 J il 20m s ) Lade JEaN IS el NRUSERRT )

(42,2 15) ) &_)i [ i) i o ED o) cilaleal) Joaasd 1 slzal) -5

(b gl glaly oS8 G &4 e

llall e tana digea .;.‘,“\

ek B 5 el 8 4




. ' . | v Lt s ,, ’h\

s (e L) J el (1989 O = ‘

o el sl

(1) i £ A Cush) ) a2 Sl L

43 5000000 & L sl ,L,,,u\m\ Fors Ju);\ L 2023/5/1 44 -1
AJQ-QL&}I )3}-“ ‘—"1"21&»‘)}]

y 1 . .
~—94\;.=;._‘ J&2) QAJ _—,_‘w _\Q — mm“ \‘

'y % s TSR TETE
< £ L gl gl A
s : i . at + e by ba Al (il SN a-—-—“‘, &,
- - i =3 2 . a of) 1 _._‘— e P oy o

N = ot & _3-. 'y ,_\ R D el w2 el el

J E o g b s ; ‘

b e i o Lde ol e ) aal gl Y el s 1000 i g et ) 8 5000 A5ad Lo sl
aal gl Y a0 4 900 K ¢l il si= )Y 5

D h e A VYl jall a2 Rl 4 63&06 «Mru_u_lj_a——._zﬂ— % £52023/5/204 3

i o e ¢ s 1250 4 A Fus ) agiall (o yea

TS ey Al ia sl sl
A 50 351 2023/6/1 A 4

%9 A sha 323 Jamay Hsei 6 3 3 Mu\.awﬁj.u-GOOOOOOM

S /3 oy a3 ety i penall (15 g g 00 Y iyl Sl Jom 3 2023/6/5 23
el DL i 1260 oy ymrpall £ 8 Al Al g ]

ale 5 emeal) Ta AneCl) Ao anuy G yendl 53 () 58 (ol e u..:_)]] 23 2023/6/20% -6
s 10000000 Gl Jleg AS il 51 B e

Fedandiladdin )l o= i yaanly Mg i/ sl Sl 2 sema e Cde sledlid '%‘7023/7/1‘;—‘-—7
Jles 5000000 23 Ledde & enanall AlLaST)

NP CQE RSO PR FE uu)l\ ciL-A i 5000000 Leied Al s ol 2ms 2023/8/1° -8
g2 960 laie; 523l peall (B 2 S8 By ofh s e anlyp il il sy a5 e o Aomea
2023/6/1 (5 Wil ) O Hell 8 223 G .;._._..A.l__...jl ol

adiea (e 4z 33 100000 2o AR \__luL._:\qu_‘\q\@mgdxuwudu_,l\g_\;')o%/l1/,0 9

LJ-‘L-“ _)L;J
\J_A_CMa.mA\ﬂbuﬁ]\A__)L;. o “ s ()24 [/3[5--10

(B2 20) L(S) il £ AN Cudl ) U pema B sMe) Slteal) (Laed jistial

5l £ ¥l (38N i jean A1 Clatanll cudd 20
}““ 5 L;-‘ ‘—"-&—3-;_/‘ J‘q-;(‘; 500 OOO) aj'j ALA&P.};_‘ \._AAM v"‘ ‘;-SJ)A __.S\ g "0q0,- ,1 -l
2300 2 o= $4552000 Jonsd b fma) N1 iy omal ibandl 05 Aal Akt i o ey
sl e o gmate i3 (630,000) ey S a2y S pemal e sl 235320207 5/3 ULu
£ =
)\_“ 15004_\3“;, J;m\.)u’\b é.ul\ Jaa o O 2y aslll J:.u)..:u..\ “\j-jjv)bﬁy)a@ f
S s B b i gl
3 3 000 | A \L«.a.d
i s ‘____u_\_“ L,,_)\a“ ‘-ﬁd‘-ﬁﬂﬂ' .)‘ 3-?-&&3‘ C‘L"“u\*“‘ “")““‘“ Os Aalall )J).d\ ‘\.1)___“ 2l -;.0“’0 /;: & 5
3 25,000 Baa) I Al abia g dllas s
3 1 okl
Al gl A Lgalinad 53015 _.m,g\ Jea g il 8 WA TU TN s
) i 5 O &8 2020/5/5 g -4
o AL 0n el a0 2020/5/10 g
5\_)_:,9__..;.\ J\\_d.\l\})llww\tj / ’UJ 5)

L0 5 o craall a4 8,000,000 e Snal b 2020/6/1 g -6

PR NS el r}_.u\ 2020/6/2 C—‘JL‘ T
L,ch-\_:.; “‘J-‘-“‘mu; '_J\AA)__‘]



_:L‘,aié\i" 3 5_laY) 3.333

daadiall dclaall ssalall //1 e Ja¥l p S laie! £\ M\&A‘ -
Ofiela oaslt (N Y 2025 — 2024 SN ) N A
T T /»f’/l Fa
< WA el 3 ). JJ

w8l

ek ¢ D e .un sl cip g (42 20)//1
: : AR NG ST :
Jsnna o)y j Aalally 12/3] (2 dagasal sl e gyl o) & i

[ 180000 8—abel 210 3¥) Slgal

0l 100000 e S e ey B Y oA
i (980000) L Al sLsiall (53l 1200003 e LY 80000 sl Astel _la <4000 458
Cagni sk ¢ ofd b Tgi s (%5) s USLy Y] (sl o udmty ¢ i (1200000) gaals Bl—mlfj
) o S (40000) e o ¢ s (25000) <Y1 e il iyl cmny 533 (26000) S
5l ye Juch)y jenb 50000 ol ciploae = 30000 lpiall indley LglasS Jse = 50000 4l
—6000 5yl 2 () Auely) iyl ae — 84000 3c 3l s — 14000 3—=be 2= alse — 50000

(&

a0 L Rn0000 ) i iala | 8000 Ae e bR

el . 45000 pysis g s — 30000 Al G} Cislas 300000 sbastl >—= doely) pleas

%75 s pe Mg .100000 32a) Js! de_A.ﬂ\AAM OHa 60000 324l _)';\ 15 clely) 50000 5ol d_B\ 498
dc ) Asmall Jralall S e %20 dol = Jana JaYL Lalssll OHlsa Lé_i Agia Lo (e
4aSU) 3 ga0l) U] za gl\ﬂ Jand) Glag Jandl daila Q\J\ﬁl‘g Glig paas cloa J:aj».a:: —1:0 5kl
12/31 B dgiial) 5538 oo Jaal Caagy dae sl cadlsall 4asld alas) — 2

sy el g Wi g e Al an) (R0 15)/[2¢
e uaj'cld ~ ol Cayjladl) (4e e j );.M\I\SJL:@U;QJY\&L?}@ (3_\_;::_\'“ (IR EN)Y | NG VRS |

Soall Cn gan Lale (535 Jualnall e Aime
d,a.z.l\ :\.5.&\» C_\\.)\_):\\)&:J\s_j_)m-c‘_gﬂjd.‘oﬂ\ ‘\_LUJLA /AL_,J _)6—“‘&3)1\-»3\ s h_\‘)_\:_“mj st &PZ\ALﬂ)\_&M\ P

it al Zh:\_JlLo C—’bbf‘j L:J\éj).a.:ﬁ Aia)g d«uj\ ;\:\.&\A \_\\.a.uz.gﬁdﬂ-a:lduj\ 2\9.«1:\4& C_)\Jbeb C_‘\éa) na Miia) _3

(")JA;.AJ.S_ “@\AIA@J@
Bals asmpe Ot Aadile Laiy Agliall Clagagall G QWIN dadley daall il e JS 25 -4
L L el Jesd) Audle Silalyly g peae [ Ll daddlly daadl Jaadl 3l ol 38 =5

: \* et W CEVEC aadl s i jlas ) - . -
Jeoladll [ 3 o pan GRS (rip A)baas (N (Plsasll Jaall Hoaly' Al Canjlna -B

LAualal iyl

O il Claw (8 Aagal) ¢ 0 e A
Ty J"J“—‘\Jbe\;“geewmb_d\ Ot 2an Y -8

sl asta) hjna s bimsally cilal EBlau o Ao fialls S ARkl Rlaal) At g 418 (A0 15)/)3
; X ] A S

dosulaall




plik) Jgan dlas) -2 Asa gl 358 CLE) 1. gl

e J‘ r@-& 184" . » » - @ 5
e GRaiuY) sie cfail) 4agd (1 5l A5l

i) KYPoA |
; 5 aliall aSa) il (i puan agl ¢ 5 ?
Ju,u12)"'-°ﬁj. E L BT ) .wN“IOOOOU\Jﬂ\A.SﬁQJ:@\Z s
14 35 o) Sl pet A1el S O 02 202011231 2 2). i 2000 n%?%jﬁ S ,/f““..n
) o) 2021131 & () ol 16 s pgs 3000 g 45,80 €8 2021/1/8 5 (3) piucd
a0 980 Sy Gr Lal A0 sdaall Al Gl s glaall pgadl i 18 il "’;‘nm éﬁw*JL?f

Ji 12 o 53150 ) 2 e gl G e 10000 1 A5 52 221 2020/12/1 5 (1) /4
AT gﬁ“‘\!‘ S (.@...A alalad) M.AS\ Ol ua 2 2020/12/31 o (2) .J32000 £ A gas uf_, )36-:;
o pap 2021/1/31 & (4) ol L 16 s pgs 3000 g AS,) ciald 2021/1/8 3 (3) ﬁ,fu L
T 2 gl il (Baee Lal A DU Apaslaal) Aallaal) (il s slhaall pgaal) i 18 ity g i Lo
| s 0000 sk A2 RSl Coald B9 E ) A8, pg s A g} A< 1 220 2020/1/1 /50
25 LS oyl A8 ) ppal 08 o) 5 Qe pgaall 300 3 A8 ) Al g pgal) s 1 Aaca¥) gt Lpage
b dasiiuaall s} 13l s ASbh Cialian U 3000 i <53 25000 Eaas 1455 pgail) (o AY) puddl] 51,5
ol Lale g ) AS ) Aap A gul) AS ) (2 Ay ) S 20 ladi) £ ) Ailes g g ) ) Aslaes g9l
L) Llee LAY (3 lall) 3 saiad) A8y jh pLAL & 685 4 gal) 48 41
: ol LS ZLaai) e (S Hall all 38 sl duill & gha B

l Ay pd) AS ) 2.) 51l S yad) P
r Aalad) Aagal) 4, byl Aadl)

30000 30000 100000 S gial) sl (3 gdially Apaall)

5000 10000 80000 oad @l

30000 20000 70000 dolay

45000 40000 100000 b

125000 10000 20000 &)

125000 110000 370000 Jsa¥l g sa2a

60000 60000 200000 )3 aa

30000 100000 AT

10000 40000 ) el

10000 30000 8 jadaa Ll

L 110000 370000 | &S Gy Slal iy £ saxe
CJL;L’&-H}J‘ :\S)aﬂ\ ‘aq-w\ ;\ﬁ‘\ilﬁ ludal s glhall

£ Ty a5 2 ) A yl) s 3 Aa U 25581

= z AG (o 3 dai® Ay ) A8 i
,sﬁgacuu‘“ew?“”’“‘“’“ﬁ&m‘ﬁﬂ‘u A ) g Ay ) 48 Al

L

e 3.\1.43\ (_)“'J-\-‘

) ] ks 3 i & .
' el i) 19 e L g,




-

J) Z_:,:L?.

§ e ‘ uJLé-‘M olaiay) il .’/ RO K SJ\J\‘J’\‘E-;S
o ) rla 2025/2024 | Al e
| f: , N
’2024 / j.gczj: fig | o) T —
el LAl e . s il 5 e oo ‘ &
- e T ~mm\4w‘u9‘f‘*-d°".
(a3 12.5 g J9) g gl A ) @Hw, 3y i 2021/1/1 o1
sl y a2 140000 sy daa gl RS g e S pt 02 o0 s i s’ ArdT 8 Al
,%Jgas)mvu)mmsjmyw\wy\)ehac»uﬂ}—éﬂ‘%tél*m G ,)u: 1) Al sea CogB B
: e o) gail) uj;: Sl aie (-‘ﬁJ"“") mu’;f)‘:ddm-\):js‘)d\ A58
2000 siaall (1000 Al /agidl (e Assally (o9l Be) 2021/1/1 ‘-’f ;j\mu L-,)“J,a a3 (7000 &lixa
2000 Jall ) ¢ a1l A tne i s (5000 calxall (2La 2000 = Ui i
o) ¢3000 &2 shiElal E000EEE _2)500 5 jataa L 500 A2 Jall ol
[ (50l Al 2021/12/31 2 LS o) A Al Al Ol
(3J3§)133\35MJ\ (JJ}:’):\-.E-‘-‘EMJ‘ —
3000 tera
5000 i ot
4000 S
ez 7000 Caldxa
1000 ) ABaToss iy laa
e 2000 Juall ol
500 ALY Jlall Gl
\ 7500 1/1 55a%a b
| 20000 Cilasall
= 10000 s
iggg ! G axaly Jlj.‘_'a\ i g paa
m 5 -
34000 34000 = S e
£ 3ol

¢ 55y 3 1.8=2021 ale Algl By 55/ 1.6 = 2021 ple L)y & U 3

/ D e ol d Rl ple Al (A8 Hlhall Ji8a 9,40l ca - LS
e A, ) G e L esthal 5/ 00 1.7 = 2021 plall P G Deias

4:.:.\)4\ Q\)_uub Alaie Yyl a9 2021 eh.\.\ A pall Adlal) 3.31331\ s -2 ol uj\ \,JJ_,_“ - -,6);:/1.,/?
SZe ) O 202 2/31

A il ey

& 1ol las
¢ o L. eRtas ol P e
: "‘\-_\-UALAA\ &3“(_’19‘\36.“\ ‘)-\:-‘\l:\ 3 =
A0 gal) Lpclaal) julaal 3 e

! > >0l gl Cos -2

uﬁu}_,.s }951.5()%54\33“349@?5—&\@—;3: 81a) B el &S 3 @ a2 :

Ry A5 5y g 3 100000 <o) Aad) ol 15 (il L A 2020/1/1 Fu a3
ot =9 .2 Alei gt ymais of

. oah %10

fdanalilly lga L) allal

Aala e 105150 Aady gl 3 ay Galed ~Cilaia — 0pd B13) B yeal) 48 o o
! E P SRR 2020/
ZVIY/

0/, 10 ey 4305 3233 5 4L 100000 =aiel] Aan) Aagdl) AL (il
cilgs ]l pand Claiudly BUEAYY ala s %8 @iaiud) ) b aic uéyd.\ Sumfs g-‘h:!\ Lo 5l :\-‘m) L e




Zephram Corporation has a plant capacity of 200,000 units per month. Unit costs at capacity are:

"Ch B : .
g tr;natl'lals 3’400
6.00

ot 1 abr

iabl © yerhead 3.00

L4 ovehead 1.00
7.00

etan! el .
\ ketim'diStﬁbUllon variable 180
les are 190,000 units at $30.00 each. Q, Inc., has contacted Zephram Corporation

bent n)nthly sa :
7,000 units at $24.00 each. Current sales would not be affected by the one-time-only

out puxhasillg ) Wb :
cial OTeT: What is Zephram's change in operating profits if the one-time-only special order is

"""""""""""""""""" ( 10 Marks)

Al Hizastlhoff Camera is considering eliminating Model EOS1 from its camera line
B c pst quarter. The past three months of information for model EOS1 is summarized below:
(1,00 units) $250,000 '
ufacinng CcOsts: :
¢ ynuerials 90,000
 1abr ($15 per hour) . » 80,000
100,000

ort ‘
($20,000)

atin loss
ariable and the remaining 30% s depreciati

ort osts are 70% v
| the has no resale value. Should Hasselhoff Camera eliminate

ox thy not?

because of losses

on of special equipment for model
Model EOS1 from its product line?

(15 Marks)

With my best wishes

Head of Dept.
Dr. MOHANAD MOHAMED




~ Subject: MA1
| Time: 2 Hours
" Date: 16 Vi /20

Universty of Basrah
Collegeof A & E
Dept. ofAccounting

First Semester
Final Exam
2024-2025

Q 1/ Chose the correct answer of 5 from the following sentences:
1. Hidgeted costs are: \
A) the costs incurred this year B) the costs incurred last year f
Q) planned or forecasted costs D) competitor's costs
2. e determination of  cost as either direct of indirect depends upon the:
/) accounting system  B) allocation system  C) cost tracing system
3. Nanufacturing overhead costs are also referred to as:

D) cost object chosen

4) indirect manufacturing costs  B) prime costs  C) period costs D) direct material

4. Teriod costs:
/) are treated as expenses in the period they are incurred
) are directly traceable to products C) include direct labor
I) are also referred to as manufacturing overhead costs

5. Contribution margin equals: 1
/) revenues minus period costs B) revenues minus product costs |
() revenues minus variable costs D) revenues minus fixed costs

6. Tunit outputs exceed the breakeven point:
/)there isaloss B) total sales revenue exceeds total costs C) there is a profit
1) Both total sales revenue exceeds total costs and there is a profit.

(10 Marks)
Q 2/ Griley, Inc., sells a single product. The company's most recent income statement is given below.
Sales (400 units) $120,000 i
Less vamble expenses - (68,000)
Contri bition margin 52,000
Less fixd expenses (40,000)
Net incme $ 12,000

Requi rd:

a. If sals are doubled to $240,000, total variable costs will equal ?

c. If sals are doubled to $240,000, total fixed costs will equal ?

d. If 10 nore units are sold, profits will increase by ?

e. Comwchowmmyuniumuﬂbﬂoldwtimkown"

f. Cou‘;;ﬂc how many units must be sold to achieve operating income of $20,000,
semrresrsssseees (1§ Marks)

Q 3/AnwerQ_NEofﬂw following branches:

BranchA: James Corporation gathered the following information:

Variabl costs $550,000

Incom e ax rate 40%

Contrihtxon-margin ratio 30%

Requird: ~ .

a. Comnyute total fixed costs assuming a breakeven volume in dollars of $2,000 m ‘

b. Cornyute sales volume in dollars to produce an after-tax net income o‘slmm

g

i ol &
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X The team
a) pre pared Lo i i S
c re nNares :
B %] The auditors

a detailed financial repo

"""" the issue before the mana

XIL The 11

a) prepared L e
¢) had pre ared

verbs. Answer only Ten (10 Marks)

-M}@g\
1 d) has prepared

gement pointed it out, (DISCOVER: Pq

a) discovered ra Baa
= discoverin

were disco S Gl s BRI

< finance department ______ the budget when

Q3/ Rewrite the following sentences in the required tenses (indic

v)dualea

d) had studied

"eport last week, (PREPARE: Past Simple)

b) had discovered
d) have discovered

d) has been preparing

st Perfect)

the power went out, (PREPARE: Past Continuous)

ated in parentheses) using the given

: ﬁie-author often ___ her|She __ _ina small town | The company The city rapid]
| characters in a way that | while she waits for her new | several new books this | over the past few years duz
reflects societal values. | job offer. (LIVE: Present | year. (PUBLISH: Present | to urban development.
(PORTRAY: Simple | Continuous) Perfect) (GROW': Present Perfect
Present) e - G Continuous)
ol | The manager the | The workers _ better | She with her studies | He the  total
situation poorly during last | conditions  for  months | when she finally received | expenses when the power
B s meeting. | before ~ the  company | help. (STRUGGLE: Past | went out. (CALCULATE:

(HANDLE: Simple Past) | agreed. (DEMAND: Past

| Perfect Continuous)

Perfect)

Past Continuous)

The company _ . the | By this time next year, she | By the time - the | By the end of this month,
production of the old| ~ a new house in the | investigation is over, the | the government food
model next year. (STOP: | city. (BUY: Future | suspect all | supplies for three weeks
Simple Future) Continuous) accusations. (DENY: | straight. (RATION:
Future Perfect) Future Perfect
Contin uous)
 Q4/ Choose the appropriate word from the table below to fill in the blanks underneath. (10 Marks)
\ Barrier e a0 Greene(y : Argue Possessions
4 Municipal Pearl Campaign Colleague
Handful R ‘: _Puffed Itchy Converse

4 | Idecided to move to Chile four vears ag0 when | was a 25-year-old with (a)

feet (and wanted to get out of the

- way of an ex-girlfriend!). | was working tor Littlewoods Home Shopping Group, and one day a (b) pointed out

¢ thisjob in Chile. We both thought it would be a good idea, but I was the one who put a CV together. Landing :
. I couldn't speak more than a (d) ofwordg in
first couple of hours in Chile were spent trying
nd () with mechanics about my car, but I
houghts across as a native speaker could. Andrea
angﬁslrt‘aﬁ@a?t‘\W‘EaTu—n’m

described in a Chilean advertising (h)
have a pleasant walkway along the seafront.

‘ — airport was my first experience of language being such a (¢
| Spanish, and would you believe that my baggage had got |

 ©0locate my missing (e)
#-Speaks p CITy 200

) k| Miofagasta, the town where we have made our home, was

L —oftheNorth. The (j) beach has been much improved. We now

A LR
mY(?UT Dream Career
"98ne your ideal career and describe it in detail, What

$ o _____.Today | can order food in restaurants a
| At really make myself understood on any deeper level. 1 can't get my t

“nglish a.}:),d_‘we—ég-)————‘—rﬁ—w{mt wecall

1 QS'/ Write at least 120 words about either A or B: (10 Marks)
| B. Pursuing a New Skill or Hobby Later in Life

' out a skill or hobby you've always wanted to
started. Explairz why it's never too
benefits of learning something new, and
how it can bring joy or personal growth at any stage of

)i

ost! So, my

once

at Santiago

as the (i)

Write ab ,
Jearn but haven't yet

late to begin, the

! i by
e ext € J0b, and why is il your dream? What ,sk{//.s or
J B ape”e"C%' do you think you would need (o achieve ih
. oW would it shape your future life? A
£ ~-m L
) '

ol e o) o, .




4 50K dsd ol JdsY! Sl il
Odfe b 1 (g )l 2025 — 2024
2024 /12 /23 ol dLaluall 4 yall
Note: Answer ALL the following questions.
. . u
Q1/ Fill in the blanks with appropriate words from your textbook: (10 Marks) ab:dal
- : PR LA
The latest film of world her stories Jane Austen's novel | In the last quarter of the twentieth century, they cashed i chpt(
Pride and Prejudice (A) over $121.147,947 | on foreign nationals, mainly Germans, wanting to'buy o
worldwide. When the BIBC screcned its latest (B) property on their (F) __ island. They don' deny,j 4/}1’
of the same novel it was watched by a record 18 million | tourism's (G) contribution to‘the local economy/( ;
British viewers. The (C) was then sold to 18 | The industry has transformed Majorca from one of

countries round the world. There are Jane Austen (D) | Spain's poorest parts to the tichest in (H) . 1NCOTR SaleS(
in all corners of the globe, and special Jane Austen | But the island's 630,000 inhabitants are increasingly Wﬂ
discussion groups on the internet, When she died in 1817, | convinced that the 14 million foreign visitors a year arg” t‘
only four of her six novels had been published, all (E) | far too much of a good thing. Water is (T) ___ pollution i

,and she had carned a grand total of £648.65 (about | is worsening, and there is no affordable housing left for| e

$1,000) from her books. them to buy. On the other side of the world, 250 Filipinos SupPOI
IR : were recently (J) from their homes. i
Q2/ Select the correct tense required for each question from the attached table. Answer only Ten (1"
Marks) S0
11
I.  The company __its financial goals for the next quarter. (PLAN: Present Simple) i
| a) plans e b) is planning ) 8
| ¢) has planned i TR NN RE d) will plan
. Theaccountants ____ discrepancies in the report for an hour before they found the solution.
(INVESTIGATE: Pust Perfect Continuous)
‘ a) investigated 2 : b) had been investigating
c) were investigating g gt d) have been investigating
i [II. The company __a financial analysis to the board tomorrow. (PRESENT: Future Simple)
[ a) will present “—_— . * b) presents
[ c) has presented L gy d) is presenting
IV.  The finance manager _____the proposal by the time the CEO arrives. (COMPLETE: Future Perfect)
a) will complete TR b) completes e
¢) will have completed d) is completing - —
V.  The financial consultant _____the report if the client had provided the necessary d ata. (PREPARE: B
Conditional Past Perfect)
a) would prepare TR b) would have prepared
, c) had prepared B ATy - . | d) will'prepare =1
! VI. - By next month, the team ____ the new accounting software for six months. (USE: Future Perfect 2%
, Continuous)
2) will use T T e [ D) will heluiing —
¢) will have been using ; & d) is using e
vil, The accountarrjt” i 1011 sotm are lowlﬁlhmlmge the accounts right now, (USE: Present Conlinuous)4

a) used S b ___ b) has used
¢) is usin s d) uses 3

viil, The auditorsmm lfud ocuments several times before finalizing the report. (REVIEW: Present Perfect)

[ a) review o b) are reviewing
d) have reviewed

¢) reviewed e
IX. The management ____. (he changes to the tax law for a few months, (STUDY- Present Perfect
Continuous)




1

Q c- Controlling.

5
§

i

E

W, R

-\ of the Down

b - Planning,

d~Making decision
4- Setting standard costs are based on:

ientific and economic stud i
a- Sci y. b Personne| experience
t
¢- Budgeted costs d- All of the above,

- 5-Allthe following are steps of Management contro| except

a— Directing

| c— Comparing

b — Setting standard

d — Correcting

6- Total actual overhead minus budgeted total flexible budget allowance for actual hours
equal the: '

ﬂ a- variable overhead spending variance. b- total overhead efficiency variance.

¢ total overhead spending variance. d- total overhead volume variance.

7- All the following are elements of control except:

a — Detector - b —Controller

1
|
|
!
|
:c Assessor d — Effector

38— The flexible budget is prepared:

@-Atthe start of the period b — At the end of the period

€ - during the period d — At any time of the year

Qb" Usage price variance is recorded at:

ia* Purchase point b — Usage point €~ Closed point d—Nonone of above

of is:
10 Under partial plan ,variance accounts are record
l

WIP account
? st of goods sold. b
o

t=1.0 Kg @ standard price $16.16 per Kg.

actual cost of material purchased $34,650 and
d actual units produced 2,100 units , the

n

bn If the Standard quantity per unit of outpu
tual material purchasad 2,200 K& e
k 'matenal used in production 1, 900 Kg- 2

“ial Quantity variance for the month:

~ TS
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:‘nt:z;t;:\:\:nce cost Accounting \@ I;IS;I‘—EZ’;’";; Accou:::tincj::'“q ,;

Date:28/12/2024 g1l First Attempt

Q 1 - True or False (10 marks marks): 7,)

1- All cost outside the relevant range are fixed. 5 | J

2-The quantity variance is recorded at the entry of usage. o

3- The detector measures what is actually happing in the situation being controlled. | }f"
2

4 - The company's performance is measures the effectiveness and the efficiency. '

5- Effectiveness is always related to objectives.

6— The main objective of cost control is to eliminate all waste and inefficiency.

7 - Standard cost is setting for one unit of product. %;;.’&,f":

8 — In standard costing, the cost control is based on comparing the actual costs with
standard costs

9 — The standard costs and estimated costs do not differ from each other.

10 — The total variance can provide useful information about the source of cost
difference.

Q 2// —Multiple choice questions (All computation required) (20 marks):

1- Under standard costing, the finished goods transferred Frome finished goods inver
to cost of goods sold are recorded by:

a- COGD account is debited and FG account is credited.
b- FG account is debited and COGS account is credited.
C — WIP account is debited and COGS account is credited.

d- COGS account is debited and WIP account is credited.

is:
a - Unfavorable. b - Favorable
¢ — Neither favorable or unfavorable. . d- None of the above

3- Standard costs is may be used for:
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€ per direct lab
(Variable 5% or hour 30 hours.

: )s Normal capacity 5,000 direct labor hour.

1- direct purchase price Variance,

2. - direct material quantity Variance,

. 3. -direct labor rate variance,

4- direct time variance,

5- variable overhead spending Variance,
- -variable efficiency overhead Wlante.

Q 4 - if you know the following data:

Required: compute the following

. Standard MHO allocated, $ 11,000, Controllable variance, $ 100 (F), volume variance, $ 50
. (F), actualMOH, $ 10,850.

. Required: Record the entry of recording MOH variances using single plan.

" Q 5 -Babel Company mixes three direct material X, Y,Z ,to produce unit of product A

’

. total input 100,000 liters , standard mix : 0.5/0.3/0.2/ liters respectively, the quantity

used 53,000/ 28,000/19,000/ liters respectively . standard price $7,/ $5, /$2 per liters
respectively, actual price $ 5,/$ 5.5,/$ 2.20 per liters respectively .

Actual output for the period was 92,700 liters of product A.

Required:

1-compute the mix variance.

1 7- Compute the yield variance.

O Good luck
F—_ \ T T o y
\\\\ A.P. Fayhaa.A. Mahmmod

AP, Mouhand .M. Abudimatalab
Head of Department

Lecturer

i




asa72500 S f

uires 2 types i

According to the standard, the production 180 kg of product (z) red sdwf" |
[

material as following: . 7 ﬂe{edc

. p=120kg 4t standard price Bgda
Materials A = 80 kg at standard price of $ 20 per kg, Materid lais s .
ces of the 2 types gL ; l[hefo

of $30 per kg the actual quantity and actual pri

following: ‘ng
i f/

110 kg at actual price of $ |/

Materials A = 90 kg at actual price of S 18 per kg, Materials B = y
il
34 per kg I
. : : : ﬂuaf ol
12- Materials price variance for material A: .
a—$180 (F) b - $180 (V) c— $ 200 (U) d-$300 (V) o
: et
9- Material mix variance for material B: '.errh
a— 1D 200 (F) b — 1D 300 (U) c— 1D 300 (F) d—1D 180 (F) |y
13- Material yield variance for material A: ' in
a—1D 180 (F) b —ID 180 (U) c—1D 110 (V) -d —Zero :

il
14-The standard labor cost per unit is (4 hrs. x$7per hr.) , actual time per unit 3.5 hrs. :
Jactual labor rate $7.5 per hrs. ~actual production 3,500 units, the toral labor variance is: H
a- $7,000(F). b-$7,000(U). c-$6,125(U). d-$6,125(F). “'j'lh\ebu !

: L
: / X
15-1f total overhead rate is $50 per hour based on a monthly capacity of 58,000 machine “%Tof
hours, overhead is 30 % variable and 70% fixed, the company produce 5,100 units and * the
recorded 60,000 machine hours, actual overhead cost was $2,927,000.each unit of mﬂe'
product requires 12 machine hours ,the controllable variance is: i "y
.«‘tev
a- $12,000(F). b-$21,000(F), c-$1 { "
(F) (F) $12,000(V). d-$2,250(U). ‘,‘ i
Answer Two question from the Three following q ; Lt
uestion (1
(Ihalseaﬂ ‘h‘%
Q. 3 - The Geneva Chocolate Company uses standard : ' lpl
costs and a flexible budget to L

control is manufacture of the chocolate. The purchasing agent is responsib| Ve
: i i d
price variance and the production manager is responsible for all other yari e for material |
: - ari
operating data for last weelk are summarized as follows: Ak %(1:

1- finished units produced 4,000 boxes of chocolate.
2- Direct material purchase and used 4,300 kg. Of chocolate @$15.5
2 per Kg.

3
~3~ AR



